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Answer any 6 questions from 1 to 7. Each carries 3 scores. (6x3=18)

1. Consider the function f: R — R defined by f(x) = 3 — 4x
(i) Prove that f is one-one and onto. 2)

(i1)) Find the inverse of F. 1)

2. Construct a 3 x 4 matrix [aij] such that aj; = 2i—j.

3. Using determinant method, find the area of the triangle with vertices (0, 3), (2, 0), (4, 5).

4.  Consider the function f defined by

{kx2 , x<2
fx) =

3, x22
(1)  What is the value of f(2) ? (1
(i1) If fis continuous at x = 2, find the value of k. 2)
. dx
5. (@ 2+ — 1)
. dx
(i) Evaluate Jx2 “ox_7 (2)
6. (i) Ifdand b are perpendicular vectors, then @ - b is . 1)
(i1)) Find the angle between the vectors /1\ — 3\ + 31A< and 3? — JA + 1/; 2)

7. Find the shortest distance between the lines T = (/i\ + JA + 1/;) + A (/1'\ + j) and

T=Qi+j+20)+u(+k
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1 a)®@3 7 210088 ¢a1034mST3 a@O@EBIEls 6 afFANETIN 2OMOo af))®)d>.

3 capod afloes. (6x3=18)
1. f:R—>R®@3, f(x) =3 —4x ag)a afoWaHM alGlNEMIEe)H:.

(i) faend-algno, 306M3s)ane @YHEMAN HOESEIV B #))

(i) fead nmeaIYaV Gene)ailslas)s. §))

2. a;=2i-j eoaemeaallwe 80) 3 x 4 20Sle:v [a;] Mldenlae)s.

3. avlgddlmad” Aol @alec@oudlaf (0, 3), (2,0), 4,5) agavial Bl@auUBBISIM

(@IEHMODNOM al0a|BOT BN 1S186)8.

4. fag)aD aDot)aUM alGlNEMIBe))w.

{kx2 , x<2
f(x) =

3, x22
() f(2) & aflel agy@@oem” ? 1
(i) x=2 @3 f deElmyaITy eREMI@3, k @es allel @ane)allslen)d. #))
. dx
5. (@ fszraz:i 1)
. dx
(11) 2 _6r_7 &eNB)a 1S9 2
6. (i) @ oo b ©Jo a1OAY@o LloENINOW OAIGOBHBINNENGI, 4 - b= ()

(ii) i —3 + 31A<, 31 —} +k o)l HAIHO)DHUB @I LNBH CHO6MD DHeNe)alSae)d. )

=G+j+aieg,
T = (2Ai + j + 21A<) + u(} + 1A<) ol cOaIBHUd eSS aBQQAlle GO B)0o

&NB)af1S1H6)d.
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Answer any 8 questions from 8 to 17. Each carries 4 scores. 8 x4=32)

8.  Let * be a binary operation on R defined by a * b=ab?, a,b € R

(i) Find2 =3 1)
(i1)) Check whether * is commutative (1)
(ii1)) Check whether * is associative 2)
. o (N3
9. (1) The principal value of cos 5 )is 1)
T T T T
@ ®L1 ©3 @35
. ) 5 ) 3 56
(ii) Show that sin! (E) + sin”! (g) = tan™! (ﬁ) 3)
10. (i) If any two rows of a determinant are same, then value of the determinant is
(1)
(i1)) Using properties of determinants prove that, 3)
x+k X X
x x+tk x =k?(3x + k).
X X x+k
11.  Consider the function f(x) = x2 — 4x + 3 on the interval [1, 3] :
(1) Find f'(x). 1)
(i1)) Verify Rolle’s theorem for f(x) on the interval [1, 3]. A3
SY 51 4



8 2@ 17 210088 2103313 ago@@slene 8 af)anOTIm 2EM0 af) @)D
4 capod afloeo. 8 x4=32)
8. axb=ab% a b e R agmm alwowicd R-a3 m3g)allafldleman 80) essnimal

6300 |COaH @S * af)MICIEO6

(1) 2 * 3 @ene)ailslend. @
(i) * soayesdlarl BRHEMI af)aM al@lEUOUS B9 §))
(iii) * @ReavomMilecdlal @RHEEMI af)aN alGlCUooWlBe)H:. ?2)
. RERE o
9. (i) cos D) 03 (afladavla @3 afleiosm 1

@ ®F ©@3F @3

5 3 56
(i) sin™! (B) +sin”! (g) = tan™! (g) o) OS> 3)

10. (i) &0 algdalmadleond oee” AIdlawd ®elymIemMelcs, @R allgdalmadlend

afleiosm’ : (0))
(i)  algAaAIMHES VEMWARIDEBUB DalEWIUTlaf 3)
x+k X X
x x+k x = K2(3x + k) ag)am) 6 & 06
X X x+k

11, [1, 3] apam snaddeaieflas f(x) = x* — 4x + 3 af)aM aDoWaHB al@lVeHe)E.
(1) f'(x) @ere)ailslon)s. 1
(i) [1,3] agam gpaddeaiel@d f{x) M coowday @lwoe KEIIEEMI af)aM aldlcuoowl-
H9)D>. 3
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12. (i) Iffisan odd function then f f(x) dx is 1

(@1 (b 0 (©a (@ 2J f(x) dx
0

/2
B cos™ dx T
(1) Prove that J—sin‘lx tcosy 4 A3
0

13. Find the area enclosed by the circle x* + y? = 4 using integration.

d
14. Consider the differential equation axz + ‘Zj = x2.
(1) Find the order and degree of the given differential equation. 1
(i) Solve the given differential equation. A3

15. Givena=3i+]+4kandb=1i—j+k

Find : (1) a x f; (2)

(i) unit vector perpendicular to both a and l_)> 1)

(ii1) area of the parallelogram with adjacent sides a and f,) 0}

16. (i) IfP(A)=0.6,P(B)=0.5and P(A UB)=0.8 3)

Find P(A n B) and P(A/B)
(i1)) IfE and F are independent events, then P(E) - P(F) is 1

(a) PEUF) (b) PEF)  (c) P(F/E)  (d) P(ENF)
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a
12. (1) f&0)800 afot)aHd @R)QOM3 J f(x) dr &3 alleiosm’ §))

a

(@ 1 (b 0 () a (@ 2f f(x) dx
0

/2

cosx dx T .
Sin"x + cosx 4 DM oS D H0)D. 3)

0

13, DBEWDaHM alc@ouila], x2 + ¥ =4 af)aM YOO ol ST G06mM)d.

d
14. ExX + % = x? o) WlaNOMBaH B3 TVAAID o alBlWETIE9)D .

()  @mIgss AWlan0Bat @3 MVAAG OO B0BAO), AWlUIW)o Bl ilSland. (1)

(i) ©@aMlgx88 Wlan0aBaH @3 MVAAD OO al@la0d®0 HOEM):. A3)

A A A

15. a=3i+]j+4k, B>=;—3+IA<@mﬂaﬂoeog<mg.

6] axb &6n8)a ISl 2)
(i) a, b o)AMY LloMIAIDH)AM @FMIQ OQIHA BHeNB)a 1S9 @

(i11) a )0 b @)o qVdflal QIKOEBBIBHIAM AVLOAOINEIHATNOG A0SO H6TE)-

allslen . 1)

16. (i) P(A)=0.6,P(B)=0.5, P(A U B)=0.8 arensms;lad P(A N B) @ P(A/B) @)
&N_)alSlee) . A3
(i) E, F gnaid gpadaufleniadawad” snaiday’ aeemeslad P(E) - P(F) @ryem. 4))

(a) PEUF) (b) P(EF)  (c) PF/E)  (d) P(ENF)
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17. A dietician wishes to mix two types of food M and N in such a way that the vitamin
contents of the mixture contain at least 9 units of vitamin A and 11 units of vitamin B.
Food M costs ¥ 50/kg and food N costs X 70/kg. Food M contains 3 units/kg of vitamin
A and 5 units/kg of vitamin B.

Food N contains 4 units/kg of vitamin A and 2 units/kg of vitamin B.

Formulate the problem as a linear programming problem to determine the minimum

cost.

[No graph or solution required]

Answer any 5 questions from 18 to 24. Each carries 6 scores. (5 x6=30)
2 01
18. ConsiderA=| 2 1 3
1 -10
(i) Find AT 1)
(i1)) Express A as the sum of a symmetric matrix and a skew symmetric matrix. A3
(iii) Find A - AT (2)
323
19. IfA=| 2 1 -1
4 3 2
(i) Find |A] €))
(i) Find Adj A 3
(ii1)) Hence solve the equations 3x —2y +3z=2,2x+y—z=3,4x -3y +2z=0. ?2)
20. Find %XX for the following :
H =y 3
(i) x=2at? y=at* 3)
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17.

18.

19.

20.

830} WQHloHM eME)MQo HMMEBHOW M, N ag)arlal &gl HLIAGIHI )0
9 @emilg allgalad A-)e, 11 @)emig aillgalad B-@)o S1g5)am @oeomil@d 6o 2l gglomo
DENBOSN)AINMB  MODaldiea|SIaM). M o) aUMETM Hleen S50 0)nl)o,
N ag)am eauemaBIM Hleen 70 0)alw)o Grsm allel. 30) &leeio M eauemores
3 @pmlg allgalad A-@p, 5 @pmilg ailgellad B-@) 266e@ilcd, 60) @leeln
N eaem@dil@d 4 @)emlg allgalad A @)o, 2 @emig allgalad B-w) @roemsso.

Al P3l@o DENBOLNAIOMBH aBQAI}e HJONTD Halelal HiNelailslenond 6oy ellailwad
choJoLwo%m"cnggmom D@IOM 0)allB@l00)0.

[(19aD)o, al@la000A) @RQICDLIE]]

18 2)®@8 24 10OV ¢2108BSEIG3 aBO@EIEN S afANODTIM DOMOo af) )@

6 capod all@o. (5 x 6=230)

2 01

A=| 2 1 3 |aidlnemee)s.
1 -10

() AT @ee)ailslens.

(i) A apan 20Elaflom 80) alansle: a0Elamilondw, 80y apy avloasls’
20S1HMOBW)0 @)HQIV] af) 9)®).

(iii) A - AT @ene)ailslen)s.

323
A= 2 1 -1 |crpeemslcd
4 -3 2
(i) |A| @emejaislens.
(1) Adj A &e_)ailslan)d.
(iii) D® ®aleoulla] 3x -2y +3z2=2,2x +y—z=3,4x -3y + 2z =0 agyam

LRI YEEBUBBE) alGla00D0 BI6M)D.

d
axz &ene)aflSlan)d :
(i) =y

(i) x=2at? y=at

Oy

©))
2

1)
3)

2)

©))
©))
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21. (i) Find the equation of the tangent line to the curve y? = x at the point (1, 1). 3)

(ii) Find the intervals in which the function f(x) = 2x3 — 3x? — 36x + 7 is increasing or

decreasing. 3)

22. (1) If 2Ai — JA + 1/;, 3? + JA + 21A< and /1\ + 7»3 — 31A< are coplanar, then find the value of A. 3)

(i) Provethat[2+b,b+¢,c+a]=2[a,b,<] 3)

23. Consider the linear programming problem :
Maximise : Z=10x + 4y

Subjectto: 2x+y=>6

3x+4y <12

x>20,y=>0
(i) Draw the feasible region. “4)
(i) Hence solve the given linear programming problem. 2)

24. A random variable X has the following probability distribution :

X 0 1 2 3 4

PX) | k | 2k | 2k | 2k | k

(1) Find the value of k. 2)

(i1)) Using the value of k, find mean and variance of the random variable X. “4)
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21. (i) y* = x ag)am Sdalload (1, 1) agam milmjaileel H&@S)A10WIOS TLAQII Yo
SDeNR) NS156). (&)
(i) fx) = 2x3 — 3x% — 36x + 7 ag)aM afoWaHm@, MBI, WlGIalocud

@YD) DWBABOAULNDHUB D18 1S100)). A3

22. (1) 2? — JA + 1A<, 3Ai + j + 21A<, ? + 73 — 31A< af)aTlal ¢H0CeJMOA @RYWITS, A WS allel

&N_)allSlee)d>. A3

(i) [a+ _b>, b+ ¢, ¢c+a]=2]a, l_;, ¢ apam omelen)s. 3)

23. 21165 6305)emIGleman elmlead er1oWoalow) (0190 alBlWaMIE9D :
2x+y>6
3x+4y<12
x20,y20 af)mlaien® @RSINomadsas|
Z=10x + 4y 201010020V 6)1210Q))d.
(1) adlnilnilud Gleflad alog). “4)
(i) ) Dalcworily @aiges elmled ¢nloWoalo) EIYOIIM al@la0d0o

OGN, 2)

24, X agyam 00adawo caidlmiglond caloamiamileild adlavislenigauad o naies emanldleaam; :

X [o]1[2]37]4
PX) | k | 2k | 2k | 2k | k

(1) k ops aflel seme)allslen)s. 2)
(i) k-@ps aflel Palcwoufla), X agan 0omwo coldlmigdond woondlw)o,

GBIV HeNe)ailSles)d. )
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PART - A
Answer all questions from 1 to 5. Each carries 1 score. 5x1=5)

1. is a structure in which one element is a pointer to the same structure.

2. Ifasubclass is derived from more than one base class, it is known as

3. The type of tag that has only a starting tag but not an ending tag is called

4. is the default port number of HTTP service.
5. In Python is an unordered collection of key-value pairs.
PART -B
Answer any 11 questions from 6 to 18. Each carries 2 scores. (11 x2=22)
6. (a) Whatis apointer ? 1
(b) How a pointer is declared ? Give an example. (1)

7. A customer can use an ATM machine without knowing its background details.
(a) Name the object oriented feature that we can co-relate with this situation. 1

(b) Briefly explain this feature. 1)

8.  Draw diagram and identify the type of inheritance for the following :
(a) Class grade : Public mark 1

(b) Class job : Private emp, private office 1
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0o — af)

1 2)®@8 5 QIO0WBH f)EI0 CalIBIEBIIAN)e DOMOo af) P} ). BICEIMIM)o
1 ¢mpod all@o. (5x1=5)
B30} (MRHaI0lOR! B30) af)LIOAM @Y (RGaldlead @O CaldId @BYWIT @)

(R>a10lOm )M} alO@)aM).

SaIG8 H)S)HO EENIAV GOQUIBHHE @ WIAN” B0} AVENIGOTY  AWlHHOAT 61aIQO®3

@R@INOM ag)Mm) alOWAM).

@Yo SO DMEOWIBlEN)HW]e @RAITVOM SOU) NLPMIGIENBHVIo AalYaN @0

SONDOS _ af)an) al0@)am).
HTTP avdallaflod aflandoddg catddgmaud  @woem.
Python-@3 &5l-Qioely) cRoWlHH8)0S GREMEBIBEWAW GHSBHHUOM _  af)aMn)
alo@)aM).
@0Wo — enil

6 2)®@3 18 11OOW)BS ¢21083BSEIG3 aBo@Eslello 11 af)gPOTIM DOMOOALI®)d>.

2 capod afloeo. (11x2=22)
(@)  €a103Ad ag)MO@3 ag)a® ? 1)
(b) B0} €a1001BAd UWIHWA H21YIAM® af)EIBOM ? DBIAODEMo af)I®)D. @

30) ATM 0203603 (1018TM QfltaB0de1BUd GRAIH® @HAN B0} DalCEIBMIANM

@R®) DalCWIUTlBNo.
(@)  e@lom OOP-603 ag®) MVAEUaH®WA0WV] ®IO®A o HalQdo ? @
(b) Y Avaflcvrat®OHVEN)Aaf B30} 1°e100I6Mo MEND. @

@069 |0IINAIDOS WD(No A4 aB@)®00 DMBa0IQABAV af)aN @@l |Gl :
(a) Class grade : Public mark 1
(b) Class job : Private emp, private office (1)
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Correct errors in the following, if any : (ax4=2)
(a) fopen ("a.txt"|ios ::in);

(b) close (f1);

(c) ifstream (INFILE);

(d) OUT.open (“stud.dat”, out);

Explain the term Web Server.

Write any four text formatting tags and their purpose in HTML.

Briefly explain any two advantages of DBMS.

Distinguish between CHAR and VARCHAR data types in SQL.

Write any two DDL commands and their purpose in SQL.

Explain briefly Artificial Neural Networks.

List any four advantages of e-Learning.

Explain any two tuple functions in Python.

Write a Python program to check whether given number is odd or even.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

@Y al0W)IMAIVIGE H®YE RT3 GO (2x4=2)
(a) fopen ("a.txt"|ios :: in);

(b) close (f1);

(c) ifstream (INFILE);

(d) OUT.open (“stud.dat”, out);

&N TLAAA ag)aM alBo AllVdBlBElee)B:.

HTML-0£1 ago@slene Moel §SHay ¢anodaogdlot) SONdS)o GRAIMOS DalEINQle

) ) ®)B>.

DBMS-603 apo®meslene ame) 1ememdd aluodledla)d.

CHAR awogo #6Sa|, VARCHAR awogo ©esa| shal @aailenss alyem oo ag)am ?

SQL@ 988 ago®sslele oe) DDL  &@008a0)®8)e @RAIQIOS DalG@OWle

) 9} ).

@R@5ladla @8 MPO@E HEMQIAIBHNDHOBHNGlaf B30} L1221} AlAIEEMo ag)9)®)d:.

e-Learning 603 ago@&s1£1)0 ML 1N}EMETBUB af) ).

Python @3 988 ago®&s1ene @6ne) tuple aNoWInHMBUB AflUoBl@@lee)d:.

@aIAlENAM  TLoAIy BQEWO  EHOFEWI  af)aM)  aldlevoowlamalomas  Python

G100 )9}
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PART -C

Answer any 7 questions from 19 to 27. Each carries 3 scores. (7x3=21)
19. (a) What is meant by memory leak ? 2)
(b) What are the reasons for it ? 1)
20. (a) What is meant by function overloading ? 0}
(b) Using an overloaded function area() define functions to find : 2)

(1) area of asquare (a x a)

(i) area of a circle (7 r%)

21. Consider the following class :

Class A
{
Private :
intx ;
Public :
inty;
Protected :
intz;
I8
What will be the visibility labels of x, y and z in Class B if
(a) Class B is publically derived from Class A. 1%%)
(b) Class B is privately derived from Class A. 1%)
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@3 — al

19 2)®@3 27 60V ¢21033MS1G8 ago®E1EN0 7 af)GANAMIM 2ODOON) ).

3 capod afl®eo. (7x3=21)
19. (a) o220l £lles af)aNO@3 ag)a® ? ?2)
(b) @ERGIMEBS $H00MEBUB af)HADL00 ? 1)
20. (a) aDoWaHM B0QIBCLIIAloW) a)aMIMI af)a®) ? §))

(b) area() ag)AM  BOAUIBCRIAWAW  aloWAHM  DalCIWla] @IOYa]OWNMAI

BenB)allSlamae : )
() &0y liedend almideano (a < a)

(i) &) ayemosiend alqidsamo ( 12)

21, ©®26% al0®)aN GOaV UEUlE)H: :

Class A
{
Private :
int x ;
Public :
inty;
Protected :
intz;
I8

@06 l0W)AM OO X, ¥, Z afalai@es Class B @3 ogs allavlnieig
CEINIAAV af) MO Glan)o ?

(a) Class B, Class A ©l@3 a3lam)o alenila, @@l Alee0al 61a1@ow@3. (1%)
(b) Class B, Class A @@ m3lany 66101900l Alee0al 62 1090@3. 1%%)
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22.  Write short notes on any three scripting languages.

23. Consider the following relation :

24.

25.

26.

27.

PERSON
ID NO NAME PLACE AGE
5007 Dev Tvm 35
8039 Jaz Ktm 41
9842 Raj Ekm 38

Explain the following terms with respect to the above relation :
(a) Attribute

(b) Tuple

(c) Degree

(d) Cardinality

(¢) Domain of age

(f) Primary key

Write SQL commands for the following : B x1=3)
(a) To create a table STUDENT (Regno, name, mark)

(b) To insert a record with values 1025, Adith, 70

(¢) To Sort the record in alphabetical order of name.

Briefly explain any three applications of computational intelligence.

Explain the three components of e-governance infrastructure.

Briefly explain any six string functions in Python.
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22.

23.

24.

25.

26.

27.

aBO@BIEI M)A AV (@ laiflovy RIVMBEUIR)HOBHN)Gla] £loel) Afla1oeMo ag) 9@ .

®IOY alOW)AN OlCLInHD YHBUIIND

PERSON
ID NO NAME PLACE AGE
5007 Dev Tvm 35
8039 Jaz Ktm 41
9842 Raj Ekm 38

MBSIE3 OATIBBNAN GlELIaHOM BRYTVAIBAILS] @Y HBHISIOHIBIBNAN alB6BUd

aflvoBl @@l e :

(a) @RElniyg

(b) saflud

(c) auvli

(d) @odaimoeig]

() eWINOAND Boal aRER

() o6@Ei1ndl &l
®06¥ alo@)MaigealimElas SQL Ha0maw)bud af) )@ : Bx1=3)
(a) STUDENT (Regno, name, mark) ag)am csenilud al@omlaeoad

(b) 1025, Adith, 70 ag)am QI10£1)) O8S 630} HOCHNOBW NMWAVAT 612123

(C) GalO)®B)OS BRYCOIANEM (HAMIIGI CTVLIABS OO

HoalEgauemM@s sHMelRmBrilong ago®elene AN @Ra fleaDauMBHUd AllUoBAIHe)b:.

D-UEAIREMABIY gDB(OI(MRBa IGIOF M)AN) *LISHEBUD ANlUdBAIBE)H:.

Python-ee1 agea@®lene @0} AV(SloU) afoleHMIBRAS §a10) AllAIEEMo MEND.
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28.

29.

30.

31.

32.

PART -D

Answer any 3 questions from 28 to 32. Each carries 4 scores.

Using operator overloading write a program in C++ to add two time objects.

(hour and minute)

Briefly explain any four file opening modes.

What is the role of
(a) routers in transporting data ?

(b) payment gateway in online purchase ?

(a) Which are the levels of data abstraction in DBMS ?

(b) Explain each level.

Explain any four data types in SQL.

SY 52 10
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28.

29.

30.

31.

32.

@3 — al

28 m)®@3 32 219OW)BB ¢21034BEG3 aBo®EILN- 3 af) MMM 2OMOHAY) @),

6306ROaMIM}o 4 ¢1Pod afl®o. (B x4=12)

630a|c0QAd 3001BCRI0Ulow) DalEWIUTla] @sME time B0enIg:Q)3HUd (hour-9o minute-9o)

3)5)10M)88 C++ G(aloU0 af) 9}

ARO@BIRI MR aNW@ Boa eMlot) CAOA)BHOBHNOla] QllvEleGlee)b .

(a) awog (SOMAVEAI0BS ©21QYIN@IE3 O)50)DHBOS COOUB o) ?

(b)  B0eBOOLIM 2182 VIVI@ CalWHANG CNQEAIWOS COIUD af)aNE ?

(a) DBMS-ee1 oo GReNITVSISHM ORIILIGHUD aRal ?

(b) 830600 eeialel)e allvadleolee)d.

SQL-e0£1 ago®eslene MLl awdQo 0eSajdesaola] alluodladles)d.
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Reg. No
NAME ¢ coeveenneeereennecereennecreesseccssenne
MARCH 2019 Time : 2 Hours
Cool-off time : 15 Minutes

Part — II1
ELECTRONIC SYSTEMS

Maximum : 60 Scores

-

General Instructions to Candidates :

There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

3 §08018, 03953 B3 ) 12@))MIBCFI060B73 :

MBGley TLA@TTIM ajoea 15 2AlMlg” ‘@B 3900 ©6Se” DeNoElOe]o.

‘@B B0 9SO’ €aldBEIBRB  al@lalWea|SOM)o DTS GBIRYAVY®6Mo
6210M)o DalCGWIUTBN)D.

DONOGIBUB af)$)INGIM D)MNI €2 10BYEBUB UYBLIANABQ o AW BHEMo.
W1BE300eBU3 MIAIM)o UYIRBLIABYo AIWBHEMo.

@MBS H)SENDHUB, 2l(@OBUB, N0an)dUB, ag)avial DOMOECala|dlo8 ®eaN
MRVl E96Mo.

Cal0B§BU3 2LIVOgEIeNe Mellwlg)ere.
@RYQUUDIMBS MLOLIBIT TVANIIDETBUD B13HIS)BNEMo.

CIDWOMBHUB  aIQOMOIBHITM  HOTIANCLIQO)HUD  BYODWIBZ  B0)
EDLIGESIEM] D Daldh0eMAle al@ld0a0dEI@3 DalcOIWl9AIE aldSlg). j
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Answer all questions from 1 to 5. Each carries 1 score. 5x1=5)

1. The output frequency of an LC oscillator is given by the equation f_ =

2. cannot be fabricated while designing an integrated circuit.

(Resistor, Capacitor, Inductor, Transistor)

3. Which regulator IC is used in variable power supply ?

4.  Write the working principle of a moving coil microphone.

5. CDMA stands for

Answer any 6 questions from 6 to 13. Each carries 2 scores. 6x2=12)

6.  Draw the ideal and practical frequency response curves of a low pass filter.

7.  What are the conditions for sustained oscillations in an oscillator ?

8.  Define CM.R.R.

9.  Using OP-AMP, design a non-inverting amplifier with gain 1.

10. Draw the block diagram of a public addressing system.

11. Inacolour TV transmission luminance signal

Y= R+ G+ B

12.  Draw the structure of an optical fiber.

13. Explain the term ‘word length’ of a microprocessor.

SY 53 2
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10.

11.

12.

13.

1 ;)®@8 5 016OW)SH af)LI0 Gal1dIBLEBWBAN)0 DCMONAY)®)H. 1 capIAd alleo.

5x1=5)
#30) LC oscillator-00 93015 @3B sHeelaflslanmaiomss  qvaalodo
fo= @y6Mm.

&0) integrated circuit AlOOAVA ©)21Q)EMIOUD, GBRGIG3 pllcinnilso)eTeles!
SYldile).

(Resistor, Capacitor, Inductor, Transistor)

caIBlmMiud a8 Me6eIWIG3 Ralc@IUTlanM HOWELIgA IC ag@oem ?

Moving coil microphone-6a3 (a10I13EHM Do af)P)®)b.

CDMA )eS al)@amo)alo @yem.

6 2)®@3 13 1EOW)BS ¢21033BSET3 aBO@EFIEN 6 AfEANOTIM DBMOo g ;@)

2 ¢apod all@o. (6x2=12)
830 low pass filter-0a3 Oagal@eno, @PRlEHeNA® (MBIl eoTVEal1M3aIV’

SHBANDHUB QAUOQD>

830) somdlerigol@d sustained oscillations e1€la9) M @IMOAIKIM0® MleNINWMEUB
ARODINEOWIEN ?

CMRR m13Q)a 166)b.

OP-AMP 9al1600uila], 6@l 1 eileocrmeas allwaslod 80) non-inverting amplifier
AUWlOHaAVAB 612 1QY>.

83@) public addressing system-6ag °£ISm QI10Q)H.

830) 88 sl.afl. somayflauailad englmaday ailunad
Y = R+ G+ B @wyem.

Optical fiber a3 2LI1SM QIO

60) microprocessor-oel ‘word length’ ag)am aliBo aflvodledlee)d.
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Answer any 4 questions from 14 to 18. Each carries 3 scores.

Draw the circuit of an RC phase shift oscillator.

Write any three advantages of integrated circuits over discrete components.

Construct a JK flip-flop using NAND gates. Write the truth table.

Draw the block diagram of a monochrome TV receiver.

Compare the basic working principles of a CT scanner and MRI scanner.

Answer any 4 questions from 19 to 23. Each carries 4 scores.

Draw an astable multi-vibrator using IC 555 and explain its working.

Draw the block diagram of an SMPS and explain its working.

Shift registers are used to shift binary data. Construct a SISO shift register. Write its

truth table.

(a) Write any two operating systems used in mobile phones.

(b) Write the basic working concepts of Zigbee communication.

(a) Basic principle of working in a fiber optic communication system is

(b) Explain the relevance of critical angle in an optical fiber communication.

SY 53
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

14 2)®@3 18 2160088 ¢21034BS|08 aBO®EIEN0 4 af)aNOTIM DBNOo af) @)
3 capod afloes. 4x3=12)
30) RC phase shift oscillator-0a3 rudasyg a0

Discrete components-oM @RGaldMla] integrated circuits-mss ogo®sslen. 3

GMNMZEBUB af)9)®).

NAND gate 9al1c@ouilaf 30} JK flip-flop afl@enl9e)s>. @o@lead Truth table ag)9)m)s.

630) monochrome TV receiver-6a3 GeJOHs W (UWo QIO .

830} CT scanner-a@®@)o MRI scanner-60d@jo @RSINO0M (21QIBODHM @ ®|6BBUI

@OO@NYo 621>,

19 2)®@8 23 1100 ¢2108BSIG3 aBo@EIEN 4 AfINOTIM DOMOo af) )@
4 capod aflow. 4 x4=16)

IC 555 @alcwoulla] &) astable multivibrator alea] @RGIOME  (IQIGGHMo

flvodl @@ 09 B.

630) SMPS 608 ¢6nJods W@ (o Qlda] (101G Mo allaIcle9)d .

Binary data-0®@ oHfla0g 6a1@an@lmod shift registers Dalcourilaam). o) SISO

shift register alo@. @@ Truth table ag)9)@).

(a) Mobile phone-@3 9al1cOUENMM aBO®EHIEI)o O6NE Operating system ag)9)d. (2)

(b) Zigbee communication-6a3 @oSIOOM (@ IAIBTMMo af) 9. 2)

(a) &) fiber optic doayeMleanud AlguomloHnd @SINOIM (IAUBGTHM GO0
@ 1)

(b) Optical fiber »onyemlea9auml@d critical angle-6a8 (10WIM o ANl0dBRABND.  (3)
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Answer any 3 questions from 24 to 27. Each carries 5 scores.

24. (a)

An RC differentiator works as a filter.

(b) Draw the circuit of an RC differentiator.

(c)

25. (a)

(b)

26. (a)
(b)
(c)

27. (a)

(b)

SY 53

Construct a circuit to obtain the given output waveform.

Draw the block diagram of a power supply and explain each block.

Define load regulation related to power supply.

Compare any 4 features of combinational circuits and sequential circuits.

Draw the circuit of a 1:4 demultiplexer.

Write the truth table.

Draw the block diagram of a cable TV. Explain each block.

Explain the basic concepts of Satellite Communication.

(B x5=15)
1)
1)
3)

(€))
2

2)
2
0y

©))
2



24.

25.

26.

27.

24 m)®@3 27 A1O0WBS €2 10B83BSEI3 a@o@EIEN0 3 f)INOTIM DO af) @)D

5 capod all@o. (B x5=15)
(a) &) RC differentiator filter @RI (101D HO)IN). @
(b) &) RC differentiator-6a3 MBS QIO . 1)

(c) @ania@lesymm output waveform &lg)N@IMoAIV M@ VRGOS WRelBeD.  (3)

(a) @0} power supply-@OS GBS W®Uo Qlda] GBOCOO  EMIISFNFW)o
(a11B@rMo QflaIGlee ). A3)

(b) Power supply-@)a0@l enimwea|gload regulation Ml@g)a o9} . 2)

(a) Combinational circuit-6M®@)o sequential circuit-6d@p ago®elene 4 avall-

GUOAHD DU MO0 62 IQ>. ?2)
(b) &)1 : 4 demultiplexer-68 MLABHYS Q1OW). ?2)
(c) Truth table ag)®)®)o. (1)

(a) Cable TV @)6)S GeNJO06 WU QIOQID. GRMIOE 630G CERJOSN)0
flvoBl @106 3)

(b) Satellite Communication-6(3 @SIuoom @RyUWERUD AllvdElHdle9)d . 2)
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Time : 2 Hours
MARCH 2019 Cool-off time : 15 Minutes

Part — III
ELECTRONIC SERVICE TECHNOLOGY - 11
(O1d Scheme)

Maximum : 60 Scores

General Instructions to Candidates :

fl3§03n01d U393 B3 6)a12@)MIBCFI60BT3 :

~

There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

MBGley MLA@TTIM ajoea 15 2AlMlg” ‘@B 3900 ©6Se” DeNoElHe]o.

‘@B B0a0 9SO’ €aldBEIBRB al@lalWea|SOM)o DTNMABUB  GBIRYAVY®6Mo
6210M)o DalGWIUTBN)B.

DONOGIBUB af)9)INGIM D)MNI G2 10BYEBUB UYBLIANBQ o AOWSBHEMo.
TBE3U0eBU3 MM YIBLIABQo AIOWBHEMo.

@MBS H)SENDHUB, 2l(@OBUB, Nan)dUB, agavial DOMOECala|dlo8 @AM
MRVl E96Mo.

Cal0B§BU3 2LIVWOgEIeNe Melwlg)ere.
@RYQUUDIMBS TLOLIBIT TVANIIDETBUD B13HIS)BNEMo.

CEDIMBUB  921QYIMIBHITD  HOTCINCLIGO)DHUWB  BYOHWBB B0
EDRIGHESIEMD DaldOeMAlo alBld:t0a0dH @3 DalcWOUSl¥9)0I0M8 aldSIE). j
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Answer all questions from 1 to 5. Each carries 1 score. 5x1=5)
1.  IC number 7432 is gate.
(NOR, OR, NOT, AND)

2. circuit is using for adding dc to an ac signal.

(Clipping, Differentiating, Filter, Clamper)

3.  CMRR of an ideal Op-Amp is
(0, 100, —20, infinity)

4. is the principle of optical fiber communication.
5. Microphone is basically a which converts sound signal to electric signal.
Answer any 6 questions from 6 to 13. Each carries 2 scores. 6x2=12)

6.  Draw the symbol and truth table of EX-OR gate.

7.  State De-Morgan’s theorems.

8. Generate

from square wave.

9.  Draw the frequency response of LPF and BPF.

10. Draw the circuit diagram of inverting amplifier.

SY 54 2



10.

1 ;)®@8 5 016OW)SH af)LI0 Gal1dIBLEBWBAN)0 DCMONAY)®)H. 1 capIAd alleo.
Sx1=5)

IC maud 7432 o) onIgoem.

(NOR, OR, NOT, AND)

830) ac signal-@3 dc &)SlEa 38901003 MLABASIG DaleOUIlanaM).

(Rlaflowy, AWlanodeauyglow, abl@dg@, Gooald)

630) 2030 Op-Amp-6a§ CMRR @Y.
(0, 100, —20, infinity)

6300 1gl9 @8 ©6)anMIB HoANIEHNHOHT (o ladIla luB @IRY6T.

aquene adluneilom gels Sl mlunelodsl 20Q)aM HAEHICNIMN] BO)

@R)YEM.

6 2)®@3 13 1EOW)BS ¢21033BSET3 aBO@EIEN 6 AfEANOTIM DBMOo g ;@)D

2 capod afloes. (6x2=12)
EX-OR anaidload mimiels Syom esenilgie aloid.

Wl-ca0BU IV GIQOIBUB af) 9I®).

a1@A@ calafled alanye

DENBODE) .
LPF-603®@j}o BPF-603@)o (01BNl 90VE106maV)H03 QIO

Inverting amplifier-6a3 aLA#sIlg W@ W0 QAIOY .
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11.  Write down the steps to improve TV reception in Fringe areas.

12.  Match the following :

GSM Duplexer
FAX APD
Radar CCD
OFC MSC

13.  Write the functions of pre-amplifier.

Answer any 4 questions from 14 to 18. Each carries 3 scores.

14. Draw the logic circuit diagram of a full adder.

@4x3=12)

15. Draw the logic diagram of a flip flop in which there is no race around condition.

16. Write down the different steps to fabricate a PNP transistor in an IC.

17. Draw the block diagram of a cable TV network.

18. Write the advantages of optical fiber communication.

Answer any 4 questions from 19 to 23. Each carries 4 scores.

(4x4=16)

19. Y = ABC + ABC + ABC + ABC + ABC. Draw a reduced logic circuit for the above

expression using K-map.

20. Draw the internal block diagram of IC 555.

SY 54



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Fringe ag@l@o®@l@d TV dlavaiatad &)g)a10mas allallw MsalSleud af)9y@)d.

G2l0)oalS] GalBHe)D :

GSM Duplexer
FAX APD
Radar CCD
OFC MSC

Pre-amplifier-63 wa@omemud ag)9)®)d.

14 2)®@3 18 2100388 ¢2103SEG3 aBO®B1E10 4 afEANATIM DM af)H)®)d>.
3 capod afloes. 4x3=12)

30} aN)Ud @RYAAIHA GI0EA D, TVABATIG WU QIO

OOV af)0VEE DHeNElaHB PO B0} afla] GaQoaflond celoslld, WwWo

QIOQ).

830} IC-@3 PNP (soadavlauad aildanlean)aiomss ailailw eeigemud of) ).
caenild TV network-e8 €enlode Ao QIO@)d.

6300IG19 @3 ©6)aNMIB HOANMICHNHOY (ICWIRMETBUB af)P)®).

19 2)®@8 23 1100V ¢2108BSEIG3 aBO@EIEN 4 AfINOTIM DOMOo af) )@
4 capod afloo. (4 x4=16)

Y = ABC + ABC + ABC + ABC + ABC.
DS  alOFO  eXpression-m ALAIMAIW B0} Haldl® aLASFls K-map 6

TVaO0WEBMINS WA L),

IC 555-003 gnCABEM@3 CoNIOB AWW(Uo QIO ).
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21.

22.

23.

24.

25.

26.

27.

Draw the block diagram of an electronic exchange.

Explain the operation of a radar system with neat diagram.

Draw the circuit diagram of a power supply to give +5 V constant output.

Answer any 3 questions from 24 to 27. Each carries 5 scores. B x5=15)

Construct a transistor circuit to generate square wave.

Explain the working principle of a TV camera tube with neat diagram.

Explain the working principle of SMPS with neat diagram.

Draw the block diagram of PA system and explain.

SY 54 6



21.

22.

23.

24.

25.

26.

27.

30} DRIGESIETD af) BV 16D 1603 EERIOGE AWD(Uo QIO

0OaOAd <m1g)};a5m16)(‘r(§ (1B Mo aJu@(zsrcmmc@ MVaO0WETMINS QflAIG]Be)E>.

+5 V aqudlo 895a1)5 S5 @Imonivd a0 80) alald Mueeq] MUASHIS Q1o

24 m)®@3 27 A190WBS €2 10B83BSEI3 a@o@EIEN0 3 af)INOTIM DO af) @)D
5 capod all@o. (B x5=15)

1A calal M@20ilearomonivdya® SoaBaumlqud ALASEIS QIO

TV camera tube-mg} (@1QIBDMo aﬂ(@(amﬂmg MVaO0WEOMINS QAflQIBIB)G>.

SMPS-6a3 (1B Mo aﬂc(zsxzsroﬂmg TVa0dWEBTNINS QNlAIGIBe) .

PA system-6)a3 GeRJOG AW@(Uo Q0] (a10IBGMo aflaidlae)d:.
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MARCH 2019 Cool-off time : 15 Minutes

Part — II
COMPUTER INFORMATION TECHNOLOGY
(Old Scheme)
Maximum : 60 Scores

/ General Instructions to Candidates : \

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

A3 §08018, 03953 B3 ) 12@))MIBCFI060B73 :
® dddley MAGTIM ajoea 15 2AlMQ” ‘@B Boan ©6Se” DeNoElHe]o.

® ‘9B B0ah OOSO CaldBIEBUd al@lal®Wea|SOMe DOMOBU  BRHAVY@EMo
621Q)0M)o DalGRIUI L.

®  POMOIBUD af) PO AMNTIM MM G2I10BYEBU3 UPRLIANABQ o AWBeEMo.
®  MIAc3UoEBU3 M)9)QIMo URLIA 1B o AIDWVIBPMo.

® BEMBY HSENDURB, all(@BUB, an)dUB, agavial DOMOECala|dlo8 @AM
MRVl HM6Mo.

®  CaldBYEBUR 2RIVWIBOILN. Mellwig)ere.
®  @AIVDIMBS TLOLIGIT TVAAIIDEIBUD OBHIS)AN6EMo.

® CENWIMBURB  ©2IQGOMIBHITD  NHOTIANCLIGO)HB  BYloHWBs  B0)
K EDLIGESIEM] D Daldh0eMAle al@ld0a0dEI@3 DalcOIWl9AI0Ns aldSlg). j
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PART - A

Answer all questions from 1 to 5. Each carries 1 score. 5 x1=5)

1.  Which of the following is suitable for high quality printing ?
(a) Dot matrix (b) Daisy wheel

(c) Laser (d) Inkjet

2. Which of the following is a volatile memory ?
(a) RAM (b) ROM

(c) Flash (d) BIOS

3. The hardware component that connects computer to a network is
(a) AGP (b) SATA

(c) NIC (d) PCI

4. Which form of inheritance possess more than one derived class ?
(a) Single (b) Multiple

(c) Multilevel (d) Hierarchical

5. The file opening mode that enables to add data at the end of a file is
(a) 1os:in (b) 1os::out
(c) 1os::app (d) 1os::binary

SY 55 2



PART - A
1 2®@8 5 Q190N af)E10 G2 193 5IBUBEN)0 DOMEAY)M)D>. 1 capod all@o.
5x1=5)

1. ©®9¢ ®lgs3010103 2N® )83 (alafloUilm cwosdlajcor® ?
(a) Dot matrix (b) Daisy wheel

(c) Laser (d) Inkjet

2. oy mamlgssalwlad 6e) volatile onamd] agg@ ?
(a) RAM (b) ROM

(c) Flash (d) BIOS

3. 80) H>mIysolom 6mQaId@na10@ micwWlaleean a00dwealia ceiSao
(a) AGP (b) SATA

(c) NIC (d) PCI

4. o@® inheritance O)alO@IMOsM BaMlLIWldo derived Goqy 988® ?
(a) Single (b) Multiple

(c) Multilevel (d) Hierarchical

5. 80)aneilond @rAITLIm BONEIT) AWQ B)SIEa]A8MIMGEIM alE@IUIlEN)aM aDW®3

630alemilow) GAW
(a) 1os:in (b) 1os::out

(c) 1os::app (d) 1os::binary
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10.

11.

12.

13.

14.

15.

PART -B

Answer any 9 questions from 6 to 18. Each carries 2 scores. 9x2=18)

Write short notes on cache memory.

Distinguish between static RAM and dynamic RAM.

What is meant by fetch and execute cycles ?

What is the significance of word length and clock speed of a processor ?

Explain the terms degree and cardinality of a relational database.

List any two logical data models in DBMS.

What are the fundamental data types in C++ ?

Explain if statement with an example.

Write any four features of object oriented programming.

Write short notes on constructors.
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10.

11.

12.

13.

14.

15.

PART -B

6 2)®@3 18 21POW)BS €2 10B3IBEI3 aBO®BIENC 9 Af)INOTIM  DTNOOA)®)D>.

2 ¢apod afloo. 9x2=18)

Cache oaom0lo@e9)dla] 60) eioel &)Gla]| QI .

auogla, RAM eeavmoale; RAM agyariial ®anlensss alym§pavo ag)9)@)d.

fetch, execute ©OAVLANB)BHUB af) NG OBHNE BRAMOAIANMNODAT) ?

830} G toauqualead word length, clock mJlaw’ ag)aMlQAIW)OS (A IOWIM Yo ag)a® ?

830) olerlarem@d cango eeniavled degree, cardinality ag)avfl a136303 allvodla@loe)s.

DBMS-ee! agoa@aslel 0me’ crlogdlans Gago CGROALENGBIONS Cald af)9)®)d .

C++ eel fundamental Qo ©6Sa|)dbUB ag)e L]0 ?

if equgeAad ©3a00M AVadl®o AllKdEld:d1He).

306n125q B0GlRMAW ¢@I1WIAlUTla ape®asleie MLl afflaj0)huB ag)9)®)d.

Constructor-50889)0la] 60) ®)0la] GQO0IHe))b.
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16.

17.

18.

19.

20.

21.

22.

Consider the following class :

class Set
{ int amt;
public:

void display( )

{

cout<<’C++Programming *;

}
I8
(a) Write the visibility of the data member amt. 1)
(b) Define the member function ‘display( )’ on the exterior of class Set. 0}

What is polymorphism ? Give example.

Write the declaration and open( ) statement for opening a file named ‘abc.dat’ for

reading.

PART -C

Answer any 7 questions from 19 to 27. Each carries 3 scores. (7x3=21)

What are the advantages of LCD over CRT displays ?

Write the technology behind hard disk.

Write short notes on ALU and control unit of CPU.

What is the function of MODEM in connecting computer to internet ?
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16.

17.

18.

19.

20.

21.

22.

@069 @SS HOQY’ alBINEMIEND :

class Set
{ int amt;
public:

void display( )

{

cout<<’C++Programming *;

}
¥
(@) amtagam cawgo eamMIcleNd visibility ag)9)®)d. 1)

(b) “display()’ ag)aM ©AMIB aDoL)aHB set af)M HOQUIOZ a 0o define Oalgas. (1)

€al081600B8a 1Mo af)IMI@3 af)T® ? OBIAOM6Mo af)$)®)d>.

‘abe.dat’ o) an@@3 dlauflossimcalengl 80aleM OaIMM@IMBB AWlBEOaHM)o

open( ) LEOAZ0 af)I®).

PART -C
19 2)®@3 27 100088 €2 108BEI3 a@o®Bslene 7 af)dNOTIM DOMOOAN®)d:.
3 capod aflowo. (7x3=21)
CRT display-68 @ealomla] LCD &0309 988 camdHUd af)e@®edo ?
200@W AWlTVBBHSI @3 Dalc@UTlanmM TLICEGIBHAINBY af)9)®)B.

CPU-ee1 ALU, control unit ag)amlaio@@9)0la] 830} £12e1) d)0la ]| @Q00086)d.

HSM1 solom HBdeMYR0X niTWla laemM@@d MODEM-63 18 ag)am ?
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23.

24.

25.

26.

What is the difference between structure and class ?

Consider the following class :

class Vector

{
int a,b,c;
Vector( )
{
a=0;b=0;c=0;
}

¥

(a) Find out the errors in the above class. Correct them (if any).

(b) Write a parameterized constructor for the class.

Write short notes on friend functions with an example.

Consider the code segment :

class Shape

{

public:

void area(int side);

void area(int 1, int b);

}3

(a) Identify the OOP features in the code.

(b) Complete the member function definitions and write a main( ) program to execute

it.
[Hint : area of square = side * side

Area of rectangle = 1 * b]

SY 55 8
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23.  Structure, class agyamlal @a2lEnss QY@ PV af)am ?

24, 069 ®MIHBS ROV eIl TEe)D :

class Vector

{
int a,b,c;
Vector( )
{
a=0;b=0;c=0;
b
s
(@) Y KHogilee! error-&Hud el ilslon)d. HMYeMeEsla3 G0 af) 9@ @
(b) 0 Goglm @eMm)EWIRMO® parameterized cONStructor ag)9}@)d. 2
25.  Friend aDoaHM)®e806)01a] $)0la] ©Qo00SsH B0} DBIAODEMo af))®)d.
26. ®aMIBS GHOW alGIWNEMIEND :
class Shape
{
public:
void area(int side);
void area(int 1, int b);
I
(@) Y cHoUWd3 988 OOP afla)d @@l dlas. 1)
(b) 0aMUB  aloWaHMB®HB)OS definition an@olIGsl  @RAI  execute
©21QAN@IM88 main() G@loo af)OIENG. )
[av)aIm : area of square = side * side
Area of rectangle = 1 * b]
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27.

28.

29.

30.

31.

32.

Consider the following code :

class Root
{
public:
int var;
I8
class Branch: private Root
{
53

(a) Identify the base class and derived class.

(b) Write the visibility of the data member var in class Branch.

PART -D

Answer any 4 questions from 28 to 32. Each carries 4 scores.

Explain different types of scanners.

Briefly, explain different types of ROM memories.

Explain the functional block diagram of a computer.

Write the syntax and working of for loop with an example.

Write a C++ program to copy the contents a file to another.

SY 55 10
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27.

28.

29.

30.

31.

32.

A6 MANIHBS GHOW alBlWNEMIEND

class Root
{
public:
int var;
}3
class Branch: private Root
{
}3
(a) e@leel base goqy derived GOV o)1 HEMEAD af) $)®). 1)
(b) Branch ag)am oql@d var ag)am cawgo eamiclend visibility ag)9)m)s. 2)

PART -D
28 ay®@3 32 A10WBS ¢21034SG8 aBo@BIENC 4 af)ANOTIM DTNOODA))D>.
4 capod afloo. (4 x4=16)
aflailw @™o Scanner-&»e889)0la] allaiclee)s.
aflalw ®eo ROM e200lee889)0la] £1°enallalesme MEN.
HMIYSOIOHAT 60oWAHM@3 CERIOGH WD (o AlAIBIHe)H:.

for enafloag syntax, (1QIB@MMo af)aIIA! BIAOEM TVaGI®o af)9)®)D .

830) anLloM) DVBSEPo OGOV} aNWEIERISS CHoafl SaiguMEImes C++

G100 af)P)D.
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